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1.
Fill in your name, student ID, and section above.  Choose some keyword for yourself that I can use to anonymously post grade information.  If you do not choose a keyword, I cannot post your grade information if needed.

2.
This is a OPEN book, OPEN notes, NO CALCULATOR test.

3.
The test is worth a total of 100 points.  The value for each question is given either at the top of that section of questions or in curly braces to the right hand side of the question.  There are extra credit questions at the end of the test worth an additional 10 points total.

4. If you do not understand a question, raise your hand and I will come over for you to ask me about it.  I may or may not answer your question but you should still ask.

5. In questions where I have given you code to use, if you find typos, assume that the code is SUPPOSED to work and just indicate what assumption you made for your answer.  This applies in all cases unless the question is specifically about the syntax of the code - in which case there are errors on purpose.

6. I will always try to give partial credit so the more of your work that you show, the more I am able to grade for partial credit if the answer is not entirely correct.  It is to your benefit to show your work on the test.

NO CHEATING!

Multiple choice questions are worth two {2} points each.  Please circle the letter indicating your choice for the answer.

1.
Which of the following is not a valid conversion specifier in a printf statement? 

A)
%%

B)
%F

C)
%X

D)
%p

2.
What does the following statement do? (Assume all variables are declared)



gamma =  (CHAR_BITS/sizeof(char)) * sizeof(gamma);

A)
finds the number of bytes in an int

B)
finds the number of bytes in gamma

C)
finds the number of bits in a char

D)
finds the number of bits in gamma

3.
Which of the following is NOT true?

A)
Big O notation is used to discuss algorithms

B)
O(nlogn) would be more efficient than O(n2)

C)
Big O notation stands for Optimization of an algorithm

D)
Linear search is O(n) efficiency

4.
Which of the following would give the last row of values in a matrix defined as 



int matrix[3][4];

A)
matrix[2][3]

B)
matrix[][3]

C)
matrix[3]

D)
matrix[2]

5.
Why should a programmer check the values entered by user of a program?

A)
To check for incorrect input

B)
To find out their data type

C)
To determine their size

D)
To create variables to read the values into

6.
Show the results of applying bubble sort to the array given below.  Use the drawings to show the values after each complete pass through the array.
{8}
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7.
Given the expressions (k < 10), (m > 4) and (p != k), use logical operations to combine these expressions such that the final expression is only true when k is less than 10 and either m is less than or equal to 4 or p is equal to k.
{6}

8.
a.
Declare a pointer lg that could reference large floating point values.
{4}


b.
Allocate enough space to pointer lg that 100 values of its base type could be stored and initialize that space to zeros.
{5}


c.
Write a code fragment with a loop that reads in values from the user to put into lg until the user enters the value -999.  When that value is read, the code should stop reading data and should print out all the values in the list using the output notation that allows either exponential format with capital letters or floating point format.
{8}

9.
a)
Write C function prototype for a function named melville that takes in two parameters, a letter called white and a number called whale, and returns a true or false value.
{6}


b)
Given the prototype above write the function melville to do the following using only if-else constructs:
{8}




If the value of white is ‘k’ (lowercase only), return whale divided by 3.




If the value of white is ‘b’ (lowercase only), return whale multiplied by 10.




If the value of white is ‘s’ (lowercase only), return whale times 2.




If the value of white is ‘w’ (lowercase only), return whale * whale.




If the value of white is any other value, return 0.


c)
If the calling routine has a variable ismael of the same type as the return type of melville, a variable blue of the same type as white, and a variable leg of the same type as whale, what will be printed from the following statements?
{4}


blue = ‘k’;


leg = 2400;


if (ismael = melville( blue, leg ))



printf (“ismael %d \n”, ismael);


else



printf (“call me ismael\n”);

10.
Given the code fragment below, answer the following questions:

#define  MINE   6

int marray[MINE];

int i, j, k, mar, max, mi;

/* Assume some random values are put into all elements of marray here */

for (mar = MINE; mar > 0; mar--)


{


max = marray[mar-1];


mi = mar-1;


for (i=0; i < mar; i++)



if (marray[i] > max)
/* Line 1 */




{




max = marray[i];




mi = i;




}


swap ( &marray[mar-1], &marray[mi]);  /* Assume swap is like we discussed in class */


}

a)
What type of sorting algorithm is implemented in this function?
{4}

b)
How many times will the line labeled /* Line 1 */ be executed?
{6}

c)
If marray contains the values 8, 23, 4, -9, 76, 0 from marray[0] to marray[5], what values will be in the array after the execution of ONE pass through the array?
{5}

	
	
	
	
	
	
	

	
	marray[0]
	marray[1]
	marray[2]
	marray[3]
	marray[4]
	marray[5]


10. 
continued

d)
After marray is completely sorted, what assignment would be needed to assign 15 to the location that has 23 in it?  Write this assignment using pointer arithmetic.
{4}

e)
Write a code fragment that will use linear search to determine if the value 30 is in sorted marray?
{6}

11.
Perform the operation 748 ^ 3910 and show the result in binary and in hexadecimal.
{9}

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	210
	211
	212
	213
	214
	215





 16

12.
Given the following code fragment, fill in 
{7}

	Hex 2-byte address
	             Value
	Variable name

	D42
	
	

	D44
	
	

	D46
	
	

	D48
	
	

	D4A
	
	

	D4C
	
	

	D4E
	
	

	D50
	
	

	D52
	
	

	D54
	
	

	D56
	
	

	D58
	
	

	D5A
	
	

	D5C
	
	

	D5E
	
	

	D60
	
	

	D62
	
	

	D64
	
	

	D66
	
	

	D68
	
	

	D6A
	
	

	
	
	

	
	
	


the memory diagram on the right with the

appropriate values  and variable names if

addresses take 4 bytes, short takes 2 bytes, char takes 2 bytes, int takes 4 bytes, long takes 4 bytes, float takes 6 bytes, and double takes 8 bytes. Show any changes made by later assignments.

short mark = 12;

char *twain = “frog”;

short *clements = &mark;

int conn = mark * sizeof(twain);

char court[] = {‘k’,’i’,’n’,’g’};

twain[0] = *(court);

Extra Credit questions  - Worth two {2} points each unless stated otherwise.

XC1)
Which word does NOT describe some form of cheating in CSE at UTA?


A)
Collusion

B)
Plagiarism

C)
Misrepresentation

D)
Assessment

XC2)
Assuming that the variable names accurately indicate the variable type, which type of conversion would NOT be performed on the statement below?


sumlong =  (int) lilshort + babychar / anyshort;

A)
automatic

B)
forced

C)
explicit

D)
size

XC3)
List the three general types of structured controls in C?
{4}

A)



B)



C)



XC4)
As you know, Dr. T has a favorite page in the textbook.  Write a short rhyme about Dr. T’s favorite page.



{ANY answer will receive 2 (two) points}
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